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Note — All questions are compulsory. Maximu rks for each queStl:’ rr:y:i::
written against each question. Candidates should not write their name O i
any symbol in the answer book. If they do SO they will be dect ns
failed/disqualified. Please write only in Blue or Black ink. Except for ques dto s
relating to English/Hindi language, the answers can be given, either ol o
English.
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(a) | Benefits of democracy

(b) | Problem of unemployment in India 3
S A NS H FAET

Write an essay on any one of the following : /r'/'/

FdT & AT Sir e el

(c) | Indian Railways .
SRAT W

2 Fill in the blanks with correct form of verb by correcting the one which is in the
bracket:

5x1=5

{s) | Theboyis under the tree. (sleep)

(b) | Themanis ________ his car. (wash)

(c) 'AﬂdV kept on the ice. (slip)

(d) | The dog -----~ at the postman. (bark)

(e) | She ___ (has) living here for 2 years.

are based on the passage:

3 Read the following passage carefully and answer the questions below, which | 5x2 =10

Butterflies are some of the most interesting insects on the planet Earth. There

are more than seventeen thousand different kinds of butterflies! Butterflies
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(b)

How many stages of ife does a butterfly go through?_

(c)

In what stage does the metamo Is happen?

Why does the butterfly shed its skin? o e B

(d)

(e)

:Nhat is the second stage of life for a butterfly? oy 5 I
n what way Monarch Butterfly different from other common butterives? o
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Transiate the following sentences from English to Hindi: __——+—

(a)

We should respect and help our elders.

I—————
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(b)

India is a secular country.,

L h LS. SRRSO

(<)

I am two days behind schedule for this project. e eniiar

(d)

We must set examples for others to follow.

(e)

This book is written on the rivers of India.

frrfaf@a ot &1 R ¥ sritsh & iR % | 5x2=10

(a)

T AT o FE Rl

(b)

qH I I A R R
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# TR F o aw wm§

(d)

A 3UA T T 7 F ‘

(e)

A3 Ry smar Y el FEERY B

mafaf@a & am o Sx1=5 |
Write the names of the following |

(a)

First President of India

9Rd & 9UH Tsgufa

(b)

Capital of Jharkhand
HARWS HT TSAUTAT

(c)

Father of Nation (of India)
$Ra & g fAar

(d)

Prime Minister of India
HIT & WUTA HAT

(e)

Currency of Pakistan

crl%z-—cmaﬁ'rgar
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Write a letter to the HR manager of a company applying for the P
Manager. (Do not write your name in the letter/application. Just wri
place of name)
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Find the total area of all the walls of a room of size 3mtr X 4 mtr X 2.5 mtr
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1x5=5
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A 100 m long train is running at speed of 18 km/h. Find its speed in metre per |
second. “

IO AN T 18 F A aF G AR A TR L 39 A
Fr aifa #rex 9fa A & 71T F¢

1x5=5
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By selling the bicycle for Rs. 1200, David suffers a loss of 20% . Find the cost

price of the bicycle.
U FEfHd #1200 I0F A d° § A5 F 20% F A & T

arafea $r drrg HAd Idv)

1x5=5
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frfaf@d g #¢ :

Solve the following :

1x5=5

(a)

15x40 + 10 + 5=

(b)

0.087 —100 =

(c)

2.34X%20 =

(d)

5%-4°-

(e)

5km+ 6cm=____km

5%ﬂ’+6#3ﬁ=_m’ﬂ
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